
SPORT-TEC POWERBAG RACK  
AUFBEWAHRUNGSSTÄNDER FÜR 5 POWERBAGS

SPORT-TEC POWERBAG RACK FOR 5 POWERBAGS

Art.-Nr.  02770 · Kategorie:  Athletik-Training

NL

ES

IT

FR

EN

DE

https://www.sport-tec.de/?pi=02770
https://www.sport-tec.de/?pi=02770
https://www.sport-tec.de/?ci=002250
https://www.sport-tec.de/?ci=002250


2 Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

D
E

N
L

E
S

IT
F
R

E
N

HERZLICH WILLKOMMEN BEI SPORT-TEC

Vielen Dank für Ihren Einkauf. Wir freuen uns, dass Sie sich für ein Sport-Tec Produkt entschieden haben 
und wünschen Ihnen viel Freude damit. In dieser Anleitung finden Sie alle wichtigen Informationen zur 
Verwendung. Bei weiteren Fragen, sprechen Sie uns bitte an - wir helfen Ihnen gerne weiter.

Ihr Sport-Tec Team

BIENVENUE CHEZ SPORT-TEC

Nous vous remercions pour votre achat. Nous sommes ravis que vous ayez choisi pour un produit Sport-
Tec et espérons que vous en profiterez bien. Ce manuel contient toutes les informations importantes 
pour utiliser le produit. Pour toute question, veuillez nous contacter ; nous serons ravis de vous aider.

L’équipe Sport-Tec

WELCOME TO SPORT-TEC

Thank you for your purchase. We are pleased that you have opted for a Sport-Tec product and hope that 
you really enjoy using it. In this manual, you will find all the important information for use. If you have 
any further questions, please contact us – we will be happy to help you.

Your Sport-Tec team

TI DIAMO IL BENVENUTO IN SPORT-TEC

Grazie per l'acquisto. Siamo lieti che tu abbia scelto un prodotto Sport-Tec e ci auguriamo tu te lo goda 
appieno. In questo manuale troverai tutte le informazioni importanti sul suo utilizzo. Se hai ulteriori do-
mande, non esitare a contattarci: saremo lieti di aiutarti.

Il tuo team Sport-Tec

LE DAMOS LA BIENVENIDA A SPORT-TEC

Gracias por su compra. Nos complace que se haya decidido por un producto Sport-Tec y deseamos que 
lo disfrute. En estas instrucciones encontrará toda la información necesaria para su uso. En caso de 
tener alguna duda, póngase en contacto con nosotros. Estaremos encantados de ayudarle.

Su equipo de Sport-Tec

HARTELIJK WELKOM BIJ SPORT-TEC

Hartelijk dank voor uw aankoop. We zijn blij dat u voor een Sport-Tec-product heeft gekozen en wensen 
u daar veel plezier mee. In deze handleiding vindt u alle belangrijke informatie over het gebruik. Als u 
nog vragen heeft, neem dan contact met ons op. Wij helpen u graag verder.

Uw Sport-Tec-team



3Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

FR - INSTRUCTIONS

Veuillez lire attentivement ces instructions avant 
d’utiliser le produit. Suivez les instructions d’utilisation et 
conservez-le manuel d’utilisation soigneusement.

ES - INSTRUCCIONES

Lea atentamente estas instrucciones antes de usar el 
producto por primera vez. Siga las instrucciones y guarde 
las instrucciones de uso cuidadosamente.

EN - MANUAL

Read this manual carefully before use. Follow the 
instructions, and keep this user manual in a safe place.

DE - ANLEITUNG

Lesen Sie diese Anleitung vor der Anwendung genau 
durch. Befolgen Sie die Hinweise und bewahren Sie die 
Gebrauchsanweisung sorgfältig auf.

IT - ISTRUZIONI PER L'USO

Leggere attentamente il presente manuale prima 
dell'uso. Seguire le istruzioni e conservare con cura le 
istruzioni per l'uso.

NL - HANDLEIDING

Lees deze handleiding voor gebruik aandachtig door. 
Volg de instructies op en bewaar de gebruiksaanwijzing 
zorgvuldig.

S. 4-7

S. 8-11

S. 12-15

S. 16-19

S. 20-23

S. 24-27



4 Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

D
E

N
L

E
S

IT
F
R

E
N

D
E

ALLGEMEINES
Der Sport-Tec Powerbag Rack Aufbewahrungsständer eignet sich perfekt zum platzsparenden Ver
stauen von bis zu 5 Powerbags oder Bällen.

Der breite und stabile Standfuß sorgt für sicheren Halt, selbst bei maximaler Beladung.

Die großzügigen Abstände zwischen den Halterungen (ca. 26 cm bzw. ca. 30 cm zwischen den beiden 
untersten Ablagen) bieten auch für größere Bälle ausreichend Platz. 

Durch die spezielle Form lassen sich Powerbags und Bälle schnell und mühelos entnehmen.

LIEFERUMFANG

Bezeichnung Anzahl

Sport-Tec Powerbag Rack Aufbewahrungsständer 1x

EINZELTEILE

Das Produkt besteht aus folgenden Einzelteilen:

Nr. Bezeichnung Anzahl

❶ Standfuß 1x

❷ Rahmen 2x

❸ Ablage 5x

❹ Schaube lang (M10x60) + 2 Scheiben + Mutter 4x

❺ Schraube kurz (M10x25) + Scheibe 10x

SICHERHEITSHINWEISE
Nicht sachgemäße Benutzung kann zu Verletzungen führen.

Verwenden Sie das Produkt nur auf einem sicheren und stabilen Untergrund.

Der Aufbewahrungsständer ist kein Spielzeug! Halten Sie Kinder stets von dem Ständer und dem Zu-
behör fern und lassen Sie Kinder auf keinen Fall unbeaufsichtigt in einem Raum mit dem Ständer und 
dessen Zubehör.

Stellen Sie regelmäßig sicher, dass alle Schrauben und Muttern festgezogen sind. Wenn der Aufbewah-
rungsständer nicht regelmäßig überprüft wird, kann die Sicherheit gefährdet sein.

Die maximale Belastbarkeit von 250 kg darf nicht überschritten werden.



5Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

D
E

N
L

E
S

IT
F
R

E
N

MONTAGE

Wichtige Hinweise: 

Bevor Sie mit dem Aufbau beginnen, lesen Sie sich zunächst alle Arbeitsschritte sorgfältig durch. 

Stellen Sie sicher, dass sich während des Aufbaus keine weiteren Personen in unmittelbarer Nähe des Ständers 
aufhalten. 

VORBEREITUNG

Lesen Sie vor Beginn der Montage alle Arbeitsschritte sorgfältig durch.

Packen Sie alle Teile aus und legen Sie diese übersichtlich auf dem Boden aus.

Überprüfen Sie den Zustand und die Vollständigkeit aller Teile. Verwenden Sie keine beschädigten Teile.

Bei Beschädigung oder Unvollständigkeit kontaktieren Sie bitte unseren Kundenservice.

BENÖTIGTE WERKZEUGE

Für die Montage benötigen Sie folgende Werkzeuge:  
Zwei Maulschlüssel oder Steckschlüssel in Größe 17.

Stellen Sie sicher, dass alle Werkzeuge vor Beginn der Montage bereitliegen.

ARBEITSUMGEBUNG

Wählen Sie für die Montage eine saubere, ebene Fläche mit ausreichend Platz und guter Beleuchtung.

Sorgen Sie für eine rutschfeste Unterlage, um Kratzer am Boden und am Produkt zu vermeiden.

Halten Sie Kinder und Haustiere während der Montage vom Arbeitsbereich fern, um Verletzungen zu 
vermeiden.

DURCHFÜHRUNG

Es wird empfohlen, zur Montage eine zweite Person hinzuzuziehen.

ENDKONTROLLE

Überprüfen Sie nach Abschluss der Montage alle Schraubverbindungen auf festen Sitz.

Stellen Sie sicher, dass das Produkt stabil steht und keine Wackelgeräusche oder ungewöhnlichen Be-
wegungen auftreten.



6 Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

D
E

N
L

E
S

IT
F
R

E
N

MONTAGE

Schritt 1

Verbinden Sie den Standfuß ❶ mit 
den Rahmen ❷. Nutzen Sie dafür die 
vier langen Schrauben sowie je zwei 
Unterlegscheiben und eine Mutter ❹.

Schritt 2

Stecken Sie die Ablagen ❸ in die da-
für vorgesehenen Öffnungen in den 
Rahmen ❷. Fixieren Sie die Ablagen 
❸ mit je zwei kurzen Schrauben und 
zwei Unterlegscheiben ❺.

Vollständig montiert

❶

❷

❹

❸

❺

Nr. Bezeichnung Anzahl

❶ Standfuß 1x

❷ Rahmen 2x

❸ Ablage 5x

❹ Schaube lang (M10x60) + 2 Scheiben + Mutter 4x

❺ Schraube kurz (M10x25) + Scheibe 10x



7Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

D
E

N
L

E
S

IT
F
R

E
N

PFLEGE UND REINIGUNG
Verwenden Sie zur Reinigung ein feuchtes Tuch und ein mildes Reinigungsmittel.

Trocknen Sie das Produkt nach der Reinigung gründlich ab.

ENTSORGUNG
Entsorgen Sie das Produkt gemäß den örtlichen Vorschriften.

Für größere Gegenstände nutzen Sie bitte den Sperrmüll oder bringen Sie das Produkt zu einem Wert-
stoffhof.

Wenn möglich, zerlegen Sie das Produkt in seine Einzelteile, um eine optimale Wiederverwertung zu 
ermöglichen.

Verpackungsmaterial

Entsorgen Sie das Verpackungsmaterial umweltgerecht gemäß den örtlichen Vorschriften.

Trennen Sie Verpackungsmaterialien (Karton, Kunststoff, etc.) und führen Sie diese dem entsprechen-
den Recycling zu.

PRODUKTEIGENSCHAFTEN

Powerbag Rack Aufbewahrungsständer
für 5 Powerbags

Powerbag Rack Aufbewahrungsständer 
inkl. 5 Powerbags

Art.-Nr. 02770 02771

Zubehör ohne inkl. 5 Powerbags

Farbe schwarz schwarz

Max. Belastbarkeit 250 kg 250 kg

Material pulverbeschichteter Stahl pulverbeschichteter Stahl

Maße (BxTxH) 69x60x148 cm 69x60x148 cm

Ursprungsland Made in China Made in China



8 Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

D
E

N
L

E
S

IT
F
R

E
N

E
N

GENERAL INFORMATION
The Sport-Tec Powerbag Rack is perfect for space-saving storage of up to 5 Powerbags or balls.

The wide and stable base ensures that it remains stable, even when fully loaded.

The generous spacing between the holders (approx. 26 cm or, on the two lowest shelves, approx. 30 
cm) also provides sufficient space for larger balls. 

Its special shape allows for quickly and effortlessly removing Powerbags.

SCOPE OF DELIVERY

Designation Quantity

Sport-Tec Powerbag Rack 1x

INDIVIDUAL PARTS

The product consists of the following individual parts:

No. Designation Quantity

❶ Base 1x

❷ Frame 2x

❸ Shelf 5x

❹ Long screw (M10x60) + 2 washers + nut 4x

❺ Short screw (M10x25) + washer + nut 10x

SAFETY INSTRUCTIONS
Improper use can lead to injuries.

Only use the product on a safe and stable surface.

The storage stand is not a toy! Always keep children away from the stand and its accessories and never 
leave children unsupervised in a room with the stand and its accessories.

Regularly check to ensure that all screws and nuts are tightened. Not checking the storage stand regu-
larly can result in a risk to safety.

The maximum load capacity of 250 kg must not be exceeded! 



9Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

D
E

N
L

E
S

IT
F
R

E
N

ASSEMBLY

Important information: 

Read through all the instruction steps carefully before assembling. 

Make sure that no one is in the immediate vicinity of the stand while you assemble it.

PREPARATION

Read through all the work steps carefully before starting assembly.

Unpack all the parts and lay them out on the floor so that you have an overview of them. 

First, check the condition of all parts and ensure they are complete. Do not use damaged parts. 

If any parts are damaged or missing, please contact our customer service team.

REQUIRED TOOLS

You will need the following tools for assembly: Two open-end spanners or size 17 socket spanners.

Make sure that all tools are ready before you start assembly.

WORKING ENVIRONMENT

To assembly the product, choose a clean, flat surface with sufficient space and good lighting.

Ensure the surface is non-slip, to avoid scratching the floor and the product.

To avoid personal injury, keep children and pets away from the work area during assembly.

IMPLEMENTATION

It is recommended that a second person be involved in the assembly.

FINAL INSPECTION

Check all the screw connections after completing assembly to ensure they are tight and secure.

Make sure that the product is stable and that there are no wobbling noises or unusual movements. 



10 Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

D
E

N
L

E
S

IT
F
R

E
N

ASSEMBLY

Step 1

Connect the base ❶ to the frame ❷ 
using the four long screws, two was-
hers, and one nut ❹.

Step 2

Insert the shelves ❸ into the ope-
nings provided in the frame ❷. Se-
cure the shelves ❸ with two short 
screws and two washers each ❺.

Fully assembled

❶

❷

❹

❸

❺

No. Designation Quantity

❶ Base 1x

❷ Frame 2x

❸ Shelf 5x

❹ Long screw (M10x60) + 2 washers + nut 4x

❺ Short screw (M10x25) + washer + nut 10x



11Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

D
E

N
L

E
S

IT
F
R

E
N

CARE AND CLEANING
Use a moist cloth and a mild cleaning agent for cleaning.

Thoroughly dry the product after cleaning.

DISPOSAL
Dispose of the product in accordance with local regulations.

For larger items, please use the bulky waste service or take the product to a recycling centre.

If possible, disassemble the product into its individual parts to enable optimal recycling.

Packaging materials

Dispose of the packaging materials in an environmentally friendly manner in accordance with local 
regulations.

Separate packaging materials (cardboard, plastic, etc.) and recycle them accordingly.

PRODUCT FEATURES

Sport-Tec Powerbag Rack
for 5 Powerbags

Sport-Tec Powerbag Rack
incl. 5 Powerbags

Item no. 02770 02771

Accesories without incl. 5 Powerbags

Color black black

Max. load capacity  250 kg 250 kg

Material powder-coated steel powder-coated steel

Dimensions (WxDxH)  69x60x148 cm 69x60x148 cm

Made in  Made in China Made in China



12 Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

D
E

N
L

E
S

IT
E

N
FR

GÉNÉRALITÉS
Le Sport-Tec Rack de Rangement pour Powerbags est idéal pour ranger jusqu’à 5 powerbags ou balles 
de manière peu encombrante.

Le pied de support large et stable assure un maintien sûr, même avec une charge maximale.

Les distances généreuses qui séparent les supports (environ 26 cm ou environ 30 cm entre les deux 
étagères les plus basses) offrent suffisamment de place même pour les balles de grande taille. 

Grâce à leur forme spéciale, les powerbags et les balles peuvent être retirés rapidement et sans effort.

CONTENU DE LA LIVRAISON

Désignation Quantité

Sport-Tec Rack de Rangement pour Powerbags 1x

PIÈCES INDIVIDUELLES

Le produit se compose des pièces individuelles suivants :

N° Désignation Quantité

❶ Pied de support 1x

❷ Cadre 2x

❸ Étagère 5x

❹ Vis longue (M10 x 60) + 2 rondelle + écrou 4x

❺ Vis courte (M10 x 25) + rondelle + écrou 10x

CONSIGNES DE SÉCURITÉ
Une utilisation non conforme peut entraîner des blessures.

Utilisez le produit uniquement sur une surface sûre et stable.

Le Rack de Rangement n’est pas un jouet ! Tenez toujours les enfants éloignés du Rack de Rangement 
et des accessoires et ne laissez en aucun cas les enfants sans surveillance dans une pièce avec le rack 
de stockage et ses accessoires.

Assurez-vous régulièrement que toutes les vis et écrous sont serrés. La sécurité peut être compromise 
si le Rack de Rangement n’est pas vérifié régulièrement.

La capacité de charge maximale de 250 kg ne doit pas être dépassée. 



13Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

D
E

N
L

E
S

IT
F
R

E
N

MONTAGE

Remarques importantes :  

Avant de commencer l’assemblage, lisez d’abord attentivement toutes les étapes à suivre. 

Assurez-vous qu’il n’y a pas d’autres personnes à proximité immédiate du rack de stockage pendant l’assemblage.

PRÉPARATION

Avant de commencer le montage, lisez attentivement toutes les étapes à suivre.

Déballez toutes les pièces et disposez-les sur le sol de façon à ce qu’elles soient clairement visibles.

Tout d’abord, vérifiez l’état et l’intégralité de toutes les pièces. N’utilisez pas de pièces endommagées.

Si des pièces sont endommagées ou manquantes, veuillez contacter notre service clientèle.

OUTILS NÉCESSAIRES

Pour le montage, vous avez besoin des outils suivants :  
Deux clés à fourche ou une clé à douille de taille 17.

Assurez-vous que tous les outils sont prêts avant de commencer le montage.

ENVIRONNEMENT DE TRAVAIL

Pour le montage, choisissez une surface propre, plane, suffisamment grande et bien éclairée.

Utilisez un support antidérapant afin d’éviter de rayer le sol et le produit.

Tenez les enfants et les animaux domestiques à l’écart de la zone de travail pendant le montage, afin 
d’éviter les blessures.

RÉALISATION

Il est recommandé de faire appel à une deuxième personne pour le montage.

CONTRÔLE FINAL

Après avoir terminé le montage, vérifiez que tous les raccords à vis sont bien serrés.

Assurez-vous que le produit est stable et qu’aucun bruit de vibration ni de mouvement inhabituel ne se 
produit. 



14 Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

D
E

N
L

E
S

IT
F
R

E
N

MONTAGE

Étape 1

Reliez le pied de support ❶ au cadre 
❷. Pour ce faire, utilisez les quatre 
vis longues ainsi que deux rondelles 
et un écrou ❹.

Étape 2

Insérez les étagères ❸ dans les ou-
vertures du cadre ❷ prévues à cet 
effet. Fixez les étagères ❸ à l’aide 
de deux vis courtes et de deux ron-
delles ❺.

Totalmente montado

❶

❷

❹

❸

❺

N° Désignation Quantité

❶ Pied de support 1x

❷ Cadre 2x

❸ Étagère 5x

❹ Vis longue (M10 x 60) + 2 rondelle + écrou 4x

❺ Vis courte (M10 x 25) + rondelle + écrou 10x



15Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

D
E

N
L

E
S

IT
F
R

E
N

ENTRETIEN ET NETTOYAGE
Utilisez uniquement un chiffon humide et un détergent doux pour le nettoyage.

Séchez soigneusement le produit après le nettoyage.

MISE AU REBUT
Éliminez le produit conformément à la réglementation locale.

Pour les grands objets, veuillez utiliser les déchets encombrants ou apporter le produit à un centre de 
recyclage.

Si possible, démontez le produit en ses différentes parties afin que le recyclage soit optimal.

Matériau d’emballage

Éliminez le matériau d’emballage de manière écologique conformément à la réglementation locale.

Séparez les matériaux d’emballage (carton, plastique, etc.) et amenez-les au recyclage approprié.

ARACTÉRISTIQUES DU PRODUIT

Sport-Tec Rack de Rangement 
pour 5 Powerbags

Sport-Tec Rack de Rangement 
avec 5 Powerbags

N° de référence 02770 02771

Accessoires sans 5 powerbags inclus

Couleur noir noir

Max. Poids de l’utilisateur 250 kg 250 kg

Matériel acier thermolaqué acier thermolaqué

Dimensions (LxBxH) 69x60x148 cm 69x60x148 cm

Pays d’origine Fabriqué en Chine Fabriqué en Chine



16 Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

D
E

N
L

E
S

F
R

E
N

IT

INFORMAZIONI GENERALI
Il Sport-Tec supporto Powerbag è perfetto per riporre fino a 5 Powerbag o palloni in modo da risparmiare 
spazio.

La base ampia e stabile garantisce una presa sicura anche a pieno carico.

L'ampia distanza tra i supporti (circa 26 cm o circa 30 cm tra i due ripiani più bassi) offre spazio sufficien-
te anche per le palle più grandi. 

La forma speciale consente di rimuovere le powerbag e le palline in modo rapido e semplice.

DOTAZIONE DELLA FORNITURA

Denominazione Quantità

Sport-Tec supporto Powerbag 1x

PARTI INDIVIDUALI

Il prodotto è composto dalle seguenti parti individuali:

N. Denominazione Quantità

❶ Piedistallo 1x

❷ Telaio 2x

❸ Ripiano 5x

❹ Vite lunga (M10x60) + 2 rondella + dado 4x

❺ Vite corta (M10x25) + rondella + dado 10x

AVVERTENZE DI SICUREZZA
L'uso improprio può causare lesioni.

Utilizzare il prodotto solo su una superficie sicura e stabile.

Il supporto non è un giocattolo! Tenere sempre i bambini lontani dalla supporto e dagli accessori e non 
lasciare mai i bambini senza sorveglianza in una stanza con la rastrelliera e i suoi accessori.

Verificare regolarmente che tutti i dadi e i bulloni siano serrati. Se il supporto non viene controllato rego-
larmente, la sicurezza può essere compromessa.

La portata massima di 250 kg non deve essere superata. 



17Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

D
E

N
L

E
S

IT
F
R

E
N

MONTAGGIO

Note importanti: 

Prima di iniziare a montare lo stativo, leggere attentamente tutte le fasi di lavoro. 

Assicurarsi che nessun'altra persona si trovi nelle immediate vicinanze dello stativo durante il montaggio.

PREPARAZIONE

Prima di iniziare il montaggio, leggere attentamente tutte le fasi di lavoro.

Disimballare tutte le parti e stenderle in modo chiaro sul pavimento.

Controllare le condizioni di tutte le parti e che non manchi alcun pezzo. Non utilizzare parti danneggiate.

In caso di danni o parti mancanti, contattare il nostro servizio clienti.

STRUMENTI NECESSARI

Per il montaggio sono necessari i seguenti strumenti:  
Due chiavi aperte o chiavi a bussola di dimensione 17.

Assicurarsi che tutti gli strumenti siano pronti prima di iniziare il montaggio.

AMBIENTE DI LAVORO

Per il montaggio, scegliere una superficie pulita e piana con spazio sufficiente e una buona illuminazione.

Fornire una base antiscivolo per evitare graffi sul pavimento e sul prodotto.

Durante il montaggio, tenere i bambini e gli animali domestici lontani dall'area di lavoro per evitare 
lesioni.

ESECUZIONE

Si consiglia di coinvolgere una seconda persona per il montaggio.

CONTROLLO FINALE

Dopo il completamento del montaggio, controllare che tutti i collegamenti a vite siano saldamente 
fissati.

Assicurarsi che il prodotto sia stabile e che non ci siano rumori o movimenti insoliti. 



18 Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

D
E

N
L

E
S

IT
F
R

E
N

MONTAGGIO

Passo 1 

Collegare il supporto ❶ al telaio ❷. 
Utilizzare le quattro viti lunghe e le 
due rondelle e il dado ❹.

Passo 2

Inserire i ripiani ❸ nelle aperture pre-
viste nel telaio ❷. Fissare i ripiani ❸ 
con due viti corte e due rondelle ❺.

❶

❷

❹

❸

❺

Completamente assemblato

N. Denominazione Quantità

❶ Piedistallo 1x

❷ Telaio 2x

❸ Ripiano 5x

❹ Vite lunga (M10x60) + 2 rondella + dado 4x

❺ Vite corta (M10x25) + rondella + dado 10x



19Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

D
E

N
L

E
S

IT
F
R

E
N

MANUTENZIONE E PULIZIA
Per la pulizia, utilizzare un panno umido e un detergente delicato.

Asciugare accuratamente il prodotto dopo la pulizia.

SMALTIMENTO
Smaltire il prodotto in conformità con le normative locali.

Per oggetti più grandi, utilizzare il servizio per rifiuti ingombranti o portare il prodotto in un centro di 
riciclaggio.

Se possibile, smontare il prodotto nelle sue singole parti per consentire un riciclaggio ottimale.

Materiale di imballaggio

Smaltire il materiale di imballaggio in conformità con le normative locali.

Separare i materiali di imballaggio (cartone, plastica, ecc.) e riciclarli.

CARATTERISTICHE DEL PRODOTTO

Sport-Tec Supporto  
per 5 Powerbags

Sport-Tec Supporto  
con 5 Powerbags

Articolo n. 02770 02771

Accessori senza incluso 5 Powerbag

Colore nero nero

Max. Capacità di carico 250 kg 250 kg

Materiale acciaio verniciato a polvere acciaio verniciato a polvere

Dimensioni (LxPxH) 69x60x148 cm 69x60x148 cm

Paese di origine Prodotto in Cina Prodotto in Cina



20 Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

D
E

N
L

IT
F
R

E
N

E
S

INFORMACIÓN GENERAL
El Sport-Tec soporte Powerbag es perfecto para guardar en poco espacio hasta 5 Powerbags o balones.

La base ancha y estable garantiza una sujeción segura, incluso cuando está completamente cargado.

El generoso espacio entre los soportes (aprox. 26 cm o aprox. 30 cm entre los dos estantes más bajos) 
también proporciona espacio suficiente para pelotas más grandes.

La forma especial permite extraer los powerbags y las pelotas rápidamente y sin esfuerzo.

CONTENIDO DE LA ENTREGA

Denominación Cantidad

Sport-Tec soporte Powerbag 1x

COMPONENTES

El producto consta de las siguientes componentes:

No. Denominación Cantidad

❶ Pedestal 1x

❷ Marco 2x

❸ Estante 5x

❹ Tornillo largo (M10x60) + 2 arandela + tuerca 4x

❺ Tornillo corto (M10x25) + arandela + tuerca 10x

INDICACIONES DE SEGURIDAD
Un uso indebido puede provocar lesiones.

Utilice el producto únicamente sobre una superficie segura y estable.

El soporte de almacenamiento no es un juguete. Mantenga siempre a los niños alejados del soporte 
y de sus accesorios y no los deje nunca sin supervisión en una habitación en la que se encuentren el 
soporte y sus accesorios.

Asegúrese regularmente de que todos los tornillos y tuercas están apretados. Si el soporte de almace-
namiento no se comprueba con regularidad, la seguridad puede verse comprometida.

No supere la capacidad de carga máxima de 250 kg.



21Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

D
E

N
L

E
S

IT
F
R

E
N

MONTAJE

Información importante: 

Antes de iniciar el montaje, lea atentamente todos los pasos de trabajo. 

Asegúrese de que no haya otras personas en las inmediaciones del soporte durante el montaje.

PREPARACIÓN

Lea detenidamente todos los pasos del procedimiento antes de comenzar el montaje.

Desembale todas las piezas y colóquelas en el suelo de forma que queden claramente visibles.

Compruebe que todas las piezas estén íntegras y en buen estado. No utilice piezas dañadas.

Si el producto está dañado o incompleto, póngase en contacto con nuestro servicio de atención al 
cliente.

HERRAMIENTAS NECESARIAS

Necesitará las siguientes herramientas para el montaje: Dos llaves fijas o llaves de vaso del tamaño 17.

Asegúrese de tener todas las herramientas antes de comenzar el montaje.

ENTORNO DE TRABAJO

Elija para el montaje una superficie limpia y nivelada, con espacio suficiente y buena iluminación.

Coloque una base antideslizante para evitar rayar el suelo y el producto.

Mantenga a los niños y animales domésticos alejados de la zona de trabajo durante el montaje para 
evitar lesiones.

EJECUCIÓN

Se recomienda que una segunda persona participe en el montaje.

COMPROBACIÓN FINAL

Una vez finalizado el montaje, compruebe que todas las uniones atornilladas estén bien apretadas.

Asegúrese de que el producto esté estable y de que no haya ruidos de tambaleo ni movimientos in-
usuales. 



22 Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

D
E

N
L

E
S

IT
F
R

E
N

MONTAJE

Paso 1.

Conecte el soporte ❶ al marco ❷. 
Utilice los cuatro tornillos largos así 
como dos arandelas y una tuerca ❹.

Paso 2.

Inserte los estantes ❸ en las abertu-
ras previstas en el marco ❷. Fije los 
estantes ❸ con dos tornillos cortos y 
dos arandelas ❺.

Totalmente montado

❶

❷

❹

❸

❺

No. Denominación Cantidad

❶ Pedestal 1x

❷ Marco 2x

❸ Estante 5x

❹ Tornillo largo (M10x60) + 2 arandela + tuerca 4x

❺ Tornillo corto (M10x25) + arandela + tuerca 10x



23Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

D
E

N
L

E
S

IT
F
R

E
N

CUIDADO Y LIMPIEZA
Utilice un paño húmedo y un detergente suave para limpiar los soportes y accesorios.

Séquelos bien después de limpiarlos.

ELIMINACIÓN
Deseche el producto de acuerdo con la normativa local.

Para objetos más grandes, utilice los puntos para residuos voluminosos o lleve el producto a un centro 
de reciclaje.

Si es posible, desmonte el producto en sus piezas individuales para facilitar el reciclaje.

Material de embalaje

Deseche el material de embalaje de forma respetuosa con el medioambiente y de acuerdo con la nor-
mativa local.

Separe los materiales de embalaje (cartón, plástico, etc.) y recíclelos adecuadamente.

CARACTERÍSTICAS DEL PRODUCTO

Sport-Tec soporte  
para 5 Powerbags

Sport-Tec soporte  
con 5 Powerbags

Nº de artículo 02770 02771

Accesorios sin incluido 5 Powerbags

Color negro negro

Capacidad Capacidad de carga 250 kg 250 kg

Material acero con recubrimiento de polvo acero con recubrimiento de polvo

Dimensiones (ancho x largo x alto) 69x60x148 cm 69x60x148 cm

País de origen Fabricado en China Fabricado en China



24 Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

D
E

E
S

IT
F
R

E
N

N
L

ALGEMEEN
De Sport-Tec Powerbag Rack opbergstandaard is perfect voor het ruimtebesparend opbergen van ma-
ximaal 5 Powerbags of ballen.

De brede en stabiele basis zorgt voor een stevige grip, zelfs bij volle belading.

De royale ruimte tussen de houders (ca. 26 cm of ca. 30 cm tussen de twee laagste plateaus) biedt ook 
voldoende ruimte voor grotere ballen.

Door de speciale vorm kunnen powerbags en ballen snel en gemakkelijk worden verwijderd.

INBEGREPEN IN DE LEVERING

Benaming Aantal

Sport-Tec Powerbag Rack opbergstandaard 1x

ONDERDELEN

Het product bestaat uit de volgende afzonderlijke onderdelen:

Nr. Benaming Aantal

❶ Onderstel 1x

❷ Frame 2x

❸ Plank 5x

❹ Lange schroef (M10x60) + 2 sluitring + moer 4x

❺ Schroef kort (M10x25) + sluitring + moer 10x

VEILIGHEIDSINSTRUCTIES
Onjuist gebruik kan leiden tot letsel.

Gebruik het product alleen op een veilige en stabiele ondergrond.

Het opbergstandaard is geen speelgoed! Houd kinderen altijd uit de buurt van het opbergstandaard 
en de accessoires en laat kinderen nooit zonder toezicht in een ruimte met het opbergstandaard en de 
accessoires.

Controleer regelmatig of alle bouten en moeren goed vastzitten. Als het opbergstandaard niet regelma-
tig wordt gecontroleerd, kan de veiligheid in gevaar komen.

Het maximale draagvermogen van 250 kg mag niet worden overschreden.



25Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

D
E

N
L

E
S

IT
F
R

E
N

MONTAGE

Belangrijke informatie: 

Lees alle stappen zorgvuldig door voordat je begint met het opzetten van het rek.

Zorg ervoor dat er zich tijdens de montage geen andere personen in de directe omgeving van het rek bevinden.

VOORBEREIDING

Lees voor het begin van de montage alle stappen zorgvuldig door.

Pak alle onderdelen uit en leg ze overzichtelijk op de vloer.

Controleer de staat en volledigheid van alle onderdelen. Gebruik geen beschadigde onderdelen.

Neem bij beschadiging of onvolledigheid contact op met onze klantenservice.

BENODIGD GEREEDSCHAP

Voor de montage hebt u de volgende gereedschappen nodig:  
Twee steeksleutels of dopsleutels maat 17.

Zorg ervoor dat alle gereedschappen klaar liggen voor het begin van de montage.

GEREEDSCHAPPEN

Kies voor de montage een schoon, vlak oppervlak met voldoende ruimte en goede verlichting.

Zorg voor een antisliplaag om krassen op de vloer en het product te voorkomen.

Houd kinderen en huisdieren tijdens de montage uit de buurt van het werkgebied om letsel te voorko-
men.

UITVOERING

Het wordt aanbevolen om voor de montage een tweede persoon in te schakelen.

EINDCONTROLE

Controleer na het voltooien van de montage of alle schroefverbindingen goed vastzitten.

Zorg ervoor dat het product stabiel staat en dat er geen wiebelgeluiden of ongewone bewegingen zijn. 



26 Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

D
E

N
L

E
S

IT
F
R

E
N

Volledig gemonteerd

❶

❷

❹

❸

❺
MONTAGE

Stap 1

Verbind de standaard ❶ met het 
frame ❷. Gebruik de vier lange 
schroeven en twee sluitringen en 
een moer ❹.

Stap 2

Steek de legplanken ❸ in de openin-
gen van het frame ❷. Zet de legplan-
ken ❸ vast met twee korte schroe-
ven en twee ringen ❺.

Nr. Benaming Aantal

❶ Onderstel 1x

❷ Frame 2x

❸ Plank 5x

❹ Lange schroef (M10x60) + 2 sluitring + moer 4x

❺ Schroef kort (M10x25) + sluitring + moer 10x



27Sport-Tec GmbH  ∙  Physio & Fitness  ∙  www.sport-tec.de

D
E

N
L

E
S

IT
F
R

E
N

ONDERHOUD EN REINIGING
Gebruik voor het reinigen een vochtige doek en een mild reinigingsmiddel.

Droog het product na het reinigen grondig af.

VERWIJDERING
Gooi het product weg volgens de lokale voorschriften.

Gebruik voor grotere items het grofvuil of breng het product naar een recyclingcentrum.

Demonteer het product indien mogelijk in zijn afzonderlijke onderdelen om een optimale recycling mo-
gelijk te maken.

Verpakkingsmateriaal

Gooi het verpakkingsmateriaal milieuvriendelijk weg volgens de lokale voorschriften.

Scheid verpakkingsmaterialen (karton, plastic, enz.) en breng ze naar de juiste recycling.

PRODUCTEIGENSCHAPPEN

Sport-Tec Powerbag Rack 
voor 5 Powerbags

Sport-Tec Powerbag Rack
incl. 5 Powerbags

Artikelnr. 02770 02771

Accessoires zonder incl. 5 Powerbags 

Kleur zwart zwart

Max. Draagvermogen 250 kg 250 kg

Materiaal staal met poedercoating staal met poedercoating 

Afmetingen (BxDxH) 69x60x148 cm 69x60x148 cm

Land van herkomst Gemaakt in China Gemaakt in China



©
 S

p
o
rt

-T
e
c
 G

m
b
H

, 
2
0
2
5
-0

5

Sport-Tec GmbH

Physio & Fitness

Lemberger Str. 255

D-66955 Pirmasens

Tel.: 	+49 (0) 6331 1480-0

Fax:	+49 (0) 6331 1480-220

E-Mail: info@sport-tec.de

Web: www.sport-tec.de

www.sport-tec.de/sport-tec-powerbag-rack-aufbewahrungsstaender-fuer-5-powerbags

https://www.sport-tec.de
https://www.sport-tec.de/sport-tec-powerbag-rack-aufbewahrungsstaender-fuer-5-powerbags

	DE - ANLEITUNG
	EN - MANUAL
	FR - INSTRUCTIONS
	IT - ISTRUZIONI PER L'USO
	ES - INSTRUCCIONES
	NL - HANDLEIDING

